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Read the following inatructions very carefully mmbmmm:

General Instructions :

@ wr-m iy s waf 1era saifl |l (i) This question paper comprises of 39 questions. All questions are

mmpubory.

(i) mmpwhdhiddhuﬂwmﬁou-d,lcnmdl

(iid) mma-muujmnmmuwcmmmum
quauonoam’.ulm

m)mn-mmmnbnmvnsmmw
qmum.;umm:mu-wummwu
should be in the range of 30 to 50 words.

) smc-m»mnmumsrmmm”-
mmhmmam.mwmmﬁon
should be in the range of 50 to 80 words. s

(ui) SmD-WNul‘bllmmmwMu
MmﬂaﬂmﬁﬁlmﬂMbMWMkm
the range of 80 to 120 worda. ‘

(vii) Seetion E - Question Nos. 87 to 89 are of 3 source-based/case-based 3
mqwmmcmmmmm

(ﬁﬂ!mﬁmomumnm.ammmmmm
hnmmuwwofmw'mmuummﬂdhm
questions.
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20x1=20) (L A
- SECTION - A (20 x 1 = 20)
whwa s € In this section, Question Nos. 1 to 20 are Multiple-Cholce Questions.
;?‘::?liﬂ':ﬁ-::; o ww :a a::ﬂ ﬂm ' All questions are compulsory. MR
% 448 a3 patQH, v fem

1. In the following experimental setup of electrolysis of water, if P and Qare
-Qlﬁ!'“iwa# 1 the gases collected in the test tubes enclosing the electrodes R and S, then
- : ‘ ; select the option/options in which the matching is correct : 1

[5%
@& G)and G ® Gi) and (¥ !
(€) (@) and (i) D) (i) and Gv)
1 2. You have three agueous solutions A, B and C as given below : 1 ‘
' A - Potassium nitrate

- BSodium carbonate

m-mdin;nmrdthepﬂdthmuohwin
(A) A<B<C (B) B<C<A
(© C<A<B D) B<A<C
mmm&lhwingnltuumentwﬁchhmmmld
magnesium ribbon in air :

A& Tt burns with a dazzling white flame.
1 B) A white powder is formed oo burning.

*31/ o (2TO
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(A)  25% walt viver il wreht

© 75% vl gl o e

: BN

A Hydrocarbon which does not belong to the same homologous senes of

carbon compounds is
(&) C Hyo (B) CyHy,
© CiHy, @ CyHyy

5. ﬁaen!wruflhenoludnnohnmdnﬂuuhwl\hwrdphdn;kmnm

in copper sulphate solution is
(A) Blue

(B) Pale green
(©) Yellow

(D) Reddish brown

6. Jnioeofumrh&mmhhnl'mnuwnd.hh"

a chemical compound called
(A) Acetic acid
(C) Oxalic acid

(B) Methanoic acid
(D) Tartaric acid
The water of crystallization is present in

(i) Bleaching Powder
(iii) Washing Soda
(A) (i) and (iv)

(C) () and (i)

1.

(ii) Plaster of Paris
(iv) Baking Soda
(B) (i) and (i)
(D) () and (v)

of the of

1

1

8. A tall pea plant with round seeds (TTRR) is crossed with a short pea plant

with wrinkled seeds (ttrr). The F, generation will be

" (A) 26% tall with round seeds ) 50% tall with wrinkled seeds
(C) 75% tall with wrinkled seeds (D) 100% tall with round seeds

9. A pair of endocrine glands located in the human brain is

(A) Parathyroid and Pituitary
(B) Pineal and Thymus

(C)?, Hypothalamus and Thymus
(D) Hypothalamus and Pineal

*31/6/1% ‘ .
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1 amdwﬁmninnt-wnuﬂ"'“‘ 4 10. Select the option having correct matching of the organism given in
fe e b Columa I with the mode of reproduction in Column 1 , 1

w1 2 Column I Column I1

1 R (FR) P Leishmania 1. . Regeneration
1 wEw Q Spirogyra 2. Multiple Fission
L Rew R Planaria 3. Binary Fission
8§ Plasmodium , 4. Fragmentation

5. Budding

(A) P4, Q2 R1,83

(B P-3, Q4, R6, 52

© P3 Q4R1,82

(@) P-4, Q3,R2 81 |

11. The basic filtration unit of the excretory system in human beings is : 1
(A) Nephron (B) Urethra
(C) Neuron (D) Urinary bladder

12, hmmmmmmmwwm
glands are 1

(A) Bile, Trypein, Pepsin
(B Hydrochloric acid, Pepsin, Mucus
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. 'The part of human eye which controls the amount of light entering intoit. 1

(A) Irs (B) Cornea
(C) Ciliary muscles (D) Pupil
15. Consider the following food chain :
Grass — Grasshopper — Frog — Snake — Eagle 1
ch.mntdmmavnﬂnbllluhrdmphnhuluﬁukJ.thlnvdlabb
energy at the producer level was :
(A) 05kJ B 5kd
{C) 500kJ (D) 5000 kJ
16. The incorrect statement about ozone is 1

(A} Itis a deadly poisonous gas.

(B) It shields the surface of the earth from UV radiation from sun.
(C) Itis used as a refrigerant and in fire-extinguishers.

(D) It is formed by combining oxygen molecule with free oxygen atom.,

SUe1 ' o [P.T.0.}
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wﬁlﬂilom-mumhml: . Q. Nos. 17 0 20, two statements are given — ane labelled as Assertion (A)

u-ﬂiem-mwmmmmnimﬁtﬂﬁﬁ‘ <o the other lsbelled se Reason (R). Select the correct answer Lo thess

mﬂhw.w.mmnm)awm= qnuﬁouﬁvnthtwduw.m).(mmam)umw:

) mwﬁmmﬁugmmmmmmﬁﬁ (A) Both Assertion (A) and Reason () are true and Reason (R) i thé:
wmn R e correct explanation of the Assertion (A).

®) Mm*mmﬁ“t“mmmmwﬁﬂ (B) Bothmﬁmwmdﬂumm)mmmdmmumm
LB R ; correct explanation of the Assertion (A).

(0 hww (At &, v wron (R) e f (C) Assertion (A) ia true, but Reason (R) is false’’
@ st (A) v &, v T (R) Wl 1 ®) (A) is false, but Reason (R) is true.

L (N ' i :
y 17. Munlon(A):Cubunmdiumpuundamwrnninrmmn{Mh. 1

17. hm:ﬂMﬂﬂmﬁu(r b 1 Reason (R) : Most of the carbon compounds on burning release a large

-

i (R) : Wil & it i 3o W syeafins I s em e W € | amount of heat and light.

ff o)
8 PO — M 7 L 18. Assertion (A): Xylem tissue moves water and minerals obtained from
& Ll v i 2 21 @ IR e v ahl w lﬂﬁi = iﬁ:l" 1 \he soil by the roots. 1

"ﬂ'msww“mll Wr’ Reason (R) : Xylem tissus ia found only in the roots of a plant.

19. Aluﬂlolmllnthawmmmdomuﬁtdmﬁtlﬂuomhﬁnh
connected to a metallic plate buried deep inside the earth. 1
lm@):hnhmen-mm;mhmdmtmﬂu
mumcbdvdmaammmw:itspmﬁﬂtothndmm
lo:hnuurmynntueummdmlknhoek.

20. Mutﬂon(A):Fwdwabhnnutwukdmaﬂlfwdebﬁuwﬁnlm

“an ecosystem.
< M(!):Foodnbdmuuthcmhﬂm of an ecosystem.

uumnti ° . il‘.’l‘.ﬂ
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Question Nos. 21 to 26 are very short answer type questions. Each
ﬂ'm "ﬂh question carries 2 marks.

21. A light green coloured solution of sulphate salt of metal 'P is taken in a
bnhr.amdufmothermcul‘Q‘hwtinthhnlummulmm

2. uwiuurtﬂmﬂﬂﬂ freres e

(Light Green Solution) (Colourless Solution)

I Identify the metals P’ and ‘Q’ and write its chemical equation for the g
reaction that occurs. State the conclusion of this reaction in terms of
reactivity series of metals.

22. (a) How is brain protected in our body ?
(b) A doctor finds in one of his patients that he is not maintaining &
proper posture and balance of his body. State the region of brain and
also the part of brain which is responsible for it. 2

23. (a) “Proteins control the expression of various characters.” Explain this
~ atatement by taking an example of “tallness™ as a characteristic in

~ plants. 2
OR
(®) Explain the mechanism of inheritance used by sexually reproducing
organisms to ensure the stability of DNA of the species. 2

' ¥ ﬁ

"-aum-; ° {P.T.0.1
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Sw zabn | a .n‘”@ Medium 2 is shown, #oing from Medium 1 1o
* . L _W‘
A uldi.l.
T Madum 3
Befracted Ray

W‘th?

Sl %on of bending of the refracted ray away from the normal,

(© MMW¢WSMWhWIh
terms of apeed of light in two media.

() Danger’ signal lights are red in colour, . 1
OR
(b)) What is a rainbow ? “We see a rainbow in the sky cnly after the

. (PTO.]
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SECTION-C
Question Nos. 27 to 83 are short answer type questions. Each
question carries 3 marks,
g7. Write balanced chemical equation for the reactions that occur when
(a) steam is passed over red hot iron.
(b) natural gas is burnt in air.
'(c) glucose reacts with oxygen in the cells of our body and provides

energy. 3

P

¥
28, (a) State the chemical property in each case on which the following usesof
baking soda are based upon :
(i) asananti-acids
(ii) as a constituent in making baking powder
(iif) in soda-acid fire-extinguishers 3
OR
(b) Write chemical equations to show what happens when an acid reacts
with a
(i) metal
(i) baseand
(iii) carbonate
Write the name of the main product formed in each case. 3

to the human heart. Also name that chamber of the heart which
s deoxygenated blood and state how deoxygenated blood from this
ﬁ."tmtw!unpﬁuwgeuﬁnn.

~
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as (WY
and that of white flowered pen plants aa (ww), when these two plants are
crossed F, generation is obtained.

Lo ylﬂ'“h

W Fm ke E, A et @ g

r

® r,'i*tﬁlmuhﬁﬁﬂdmw.mW;

(8 List two cbservations made by Mendel in F, generation planis.
e w g R

(1)) Olnﬁlmmdwh’mﬂmmdvmnﬁ&u\hd&l

gene combinations WW, Ww and ww in ¥, generation.

() Write one difference between dominant and recessive trait

81 Astudent placed a candle flame at different di s SR

and focused its image on & screen. He recorded his chaervation in tabular
form as given below :

0.

p- +18
-& o,
-40 u
=% 430 .
-% <4
-2 e
-18 %
-12 +190
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Ammhnoudfzobmin&mmﬂ-mu
his vision.

R tfmt
f--'-‘r-_nn.'. i e it
R o * yit
ks oo 8

8.
#

(a) Nmathlde&udﬁﬁunthnmhmﬁum
() List two causes of this defect.

@) Determine the focal length of the lenses used in the spectacles. 3

83. (a) Explain the statement “Potential difference between two pointa is
. 1 volt™.

BIETE) What do.the aymbols given:bolow repcesent i an elecisic clreai}
Write one function of each. 3

£hR g
. o [PT.0.]
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84. (a) fnl B o et 3 v waifRafers sne w A R et e i )
- wnls vy @R € ) W s e oft sedte ifag s fse e ¥ w
wewtEter W el wnifRefe s 8 viafda R a1 awar § 1 w0 e & gy
2T v Rt s ¥ wfRufy o wre stfirfiemr w3 # 7 3w seafanm 26

ool & g et sftifvasit & verfie Tt fafrg | 5

OR
Whltmmn?Wﬁhthclhuﬂmdnmmw.wlm
. eh-n'-m;-utionahmp.whymmmwndd-ndmihhhh

mhmgcbtbuinnn;ionwhmwumhhrd?ﬂwhma
problem overcomed ? )

R
®) Ty v € 7w & oy A s PRI | ¥ 9 e i 6 s

(O] DcﬁmPubeHy.Liltanyt'odanpumlnbonnthﬁnad
puberty.

() Why are testes in human males located outside the abdominal cavity

in scrotum ?

List any three techniques of contraception used by humans. Which

one of these is not meant for males ? ]

OR

Name the part performing following functions in human female

reproductive system :

() production of eggs

(ii) site of fertilization

- (iii) site of implantation

(iv) entry of the sperms

© What changes are observed in the uterus :

() subsequent to implantation of zygote and .

(i) if an egg does not get fertilized ? -
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g6, (®) What are magnetic field lines ? How is the direction of magnetic field
I

e

r

at a point determined ? Draw the pattern of magnetic field lines of
the magnetic field produced by a current carrying circular loop. Mark
on it the direction of (i) current and (ii) magnetic field lines,
Name the two factors on which the magnitude of the magnetic field
due to a current carrying coil depends. ]
OR

()] Why can't two magnetic field lines cross each other ? Draw magnetic
field lines showing the direction of the magnetic field due to m current
carrying long straight solenoid. State the conclusion which can be
drawn from the pattern of magnetic field linea inside the sclencid.
Name any two factors on which the magnitude of the magnetic field
due to this sclencid depends. 8

SECTION-E
QuuﬁmNutThummhudqumM«m
carries 4 marks.

. Many pure metals like copper, iron and gold are very soft and as such are

considered unsuitable for certain uses. Metallic objects around us such as
cooking utensils, statues, ornaments, guna etc. are actually not made up
ﬂvnnmehll.lutudofpunnchh.dhnmuudinthdnﬁmd
uutnftbeuumlnhjom.hlmmmmhmthbmmpuﬁud
a metal which is the primary constituent (metal) of an alloy. 4
m How does electrical conductivity and melting point of a metal change
whnithmmudwihalhybymi:‘mlnmﬂmnmotm
element in it ? 1
() Name an alloy used for welding two wires together in an electric
~ circuit. Write its major constituents.

. -

1
[P.T.0.]
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W OR
amn @ iﬁuwml?ﬁﬁmwmhﬁﬂﬂ"lﬂ‘y (D) (®) What is stainless steel ? How is it prepared ? Write one
< s B 3 e g 0 e e & | . important. peoperty which maks it mors waeal i making
s gt e & 1 cooking utensils as compared to its primary metal. 2

38. The growth movements of plant parts in which the direction of the

stimulus determines the direction of the response is known as tropic

4 movements or tropiam. Plants also have non-directional movements which
may not be growth dependent. 4

38, wtddw*aﬁu#dmmﬁﬂnmmﬁnnwm
dt.qdimw-ﬁhwﬂammwmliqﬁw

Pl v §1

tl‘

B 1 (D) Name the movement which causes X’ and Y’ to grow downwards and

ﬁnﬂw a)wmmi upwards respectively. (Refer above figure) 1
e R . il 1 (D Write the name of a hormone that plays a major role in (i) falling of
P A R RN . leaven (ii) rapid cell division 1

(IIT) (a) Leaves of the sensitive plant move very quickly in response to
‘touch’. How is this stimulus of touch communicated and
explain how the movement takes place. 2

OR
(II) (b)) Name the plant hormone which is synthesized at the shoot tip.
' How does this hormone helps the plant to bend towards light ? 2

"31/8/1% ‘ [P.T.0.]
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imen  —

.a-mmmmwmxwv of resistances 3 0
entitizvatdamfmt 4 and 6 0 respectively are joined in series with a battery of 2V. 4
x . 18 A an 2808 5%
¢ o _ -®+ 1 =
| ) \VJ— A *

= et —
~

o s e st wffeg v e s X st Y @) el e gt @

[ m;mmmmmmmxuﬂ"f
e stk e van wok Sy e d 1

voltmeter. 1
@ showed e ¥ ) X o Y & o v e e 9, T G X @D 1n which combination of resistors will the () potental diffrence
- Y v oo i ? : E: 4 scross X and Y and (i) current through X and Y, be the same ? 1
D () 3 i (X oY) & e g et d e mh AR (I @ Find the current drawn from the batiery by the series
o mmammmanm. 3
OR

(1) () mmmmdmwm
of the two resistors (X and Y). 2




